MODEL: PLE

£ 2-Stage
i#Ek: 15, 20, 25, 30, 35, 40, 50, 70, 100

5 R~ 8 Dimensions:

NI Input - L7 -
ez

#) % Output

PSR 0
7

Unitmm
- et = e
[ o | $12(13) $14(16) @20422; 440
426 440 480 4130
$8(=11) $14(<19) B msz«) $24(<32) $35(62)
| o | $30(30-50) $50(50-70) $70(50-110) $110(70-110) $1143(110-150)
434 452 470 $100 $145
[ os | (@-Ma) (a-M5) (a-M6) (@-M10) @-M12)
[ o R $70(70-130) $90(70-145) $145(90-165) $200(145-220)
(a-Maxal) (-maxion (-nsxial) (-Mexast) (a-M12x250)
[ o | MaX0.7P M5X0.8P M6X1.0P M10X1.5P M16X2.0P
18 3t 36 50 8
2 3 3 4 5
26 35 ) 55 87
(4) (5) (5) (8) (7)

26 32 a2 59 8
1045 138 168 221 3315
442 460 480 4120 4160
(@s0) (@62) (©@92) @120) @176)
B 2 E 5 s
s 14 2 28 “© 65
185 16 225 2 3
I ) g O 2 2
3 3 ] 8 10
48 48 418 425 435
K3 52 52 21 28 383
o1t ot 424 432 442
20 20 30 W0 52
2 2 as P s

1 () BRABTMERERST, () FWIMEMART,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
H2: SRS HRABEAESXRE, Note 2: The r r customer:
H3: MAR Note 3: to changed tot

or stepper motors sizes.

_o0_

PRECISION PLANETARY REDUCERS
i 25 17 2 R

IR
P AD HREFIS, R,
2.FBYE, FHE
EREMARTRK, KX TR,

3 EHAME
im;&;&miﬂ;mﬁ‘rmi HRERNER,

4 LR, EEE T

TR R LEM—ESEL,

S A BT
{ERBHE. RHIMORIBAE, HRBH LB R
CAEHT1E
EERBHUNERERNRER, RREEHE,
1.High precision
Standard backlash is 3 arc-min, ideal for precision control
2.High rigidity & torque
High rigidity & high torque were achived by uncaged
needle roller bearings.

3.High load capacity
Adopting taper roller bearing for the main output shait
to increase radial and axial load.
4.Adapter-bushing connection
Can be attached to any motor all over the world.
5.No grease leakage

Perfect solution using high viscosity anti-separation
grease.

6.Maintenance-free

No need to replace the grease for the life of the unit
Can be attached in any position.

M T2 Y/ Indication of Model Numbers

PAD %3%ll/PAD Series

[ P L N . i
BOEHEER Type {11 Ouput ShaftKeyway | | | BiERISE/Motor Type i
PAD047, PADOG4, PAD090, PADT10/ | | : 0w, A I . :
PAD140, PAD200, PAD255 b | (Sﬂhdsompu‘ Shaft No ’;;YWSV): i MO i
o : S, P ]
' i Standard (Keyway) P |
i EL/Ratio » 8% 4Backlash Class
W 3, 4,5,6,7,8, 9,10 » PO: S H/Micro Backlash PO
. 12, 15, 16, 20, 25, 28, 30, 35, 40, 50, | | P1: 1§ #B/Precision Backlash P1
70, 80, 100 H P2: #E##H/Standard Backlash P2

JEREVEEH]: PAD090-100-S2-P1/Panasonic MSMJ 082S1A
e




PAD i@ #E#%EsEE 1 Specification Table
T I e EE )
19 50 133 278 555

5 22 60 160 330 650
2 7 19 50 140 300 550 1100 1800
10 14 ) 100 230 450 900 1500
BEMH AT Nm 20 19 50 133 278 555 1050 1700
Bateo Quput Touwe: 25 22 60 160 330 650 1200 2000
2 35 19 50 140 300 550 1100 1800
40 19 45 120 260 50 1000 1600
50 22 60 160 330 650 1200 2000
70 19 50 140 300 550 1100 1800
100 14 0 100 230 450 %0 1500
HAMHRIE Tar) Max Ouout Toraue N 12 4-100 3N 74E/3Times of Nominal Oulput Torque
AN ¥Rated Input Speed om 12 4-100 5000 5000 4000 4000 3000 3000 2000
BAMAMWEN Maxinput Speed om 12 4-100 10000 10000 8000 8000 6000 6000 4000
RERRPO/ Micro Backash PO aremin 4 a1t =t =t =l =L =L =L
2 12100 =3 <3 <3 <3 <3 <3 =3
WERTRP  Procison Backash P1 aremin 1 40| =3 e =3 |u=ass
2 20-100 =5 <5 <5 <5 <5 <5 =5
1 410 <6 <6 <6 <6 <6 <6 =<6
AP/ Stancard Backiash P2 aremin P ——— — — — - o
B Torsional gy Nmarcmin 12 4~100 8 18 30 80 150 450 1010
BARAR ST’ N 12 4-100 43 125 235 430 1300 3084 5900
AR M Al Forco N 12 4-100 990 1050 2850 2990 10500 16660 29430
ERES /Sonvo Lo hr 12 4-100 220000
1 410 =o7%
S b 2 20100 >94%
T Woight i il £ 07 13 32 58 123 33 57.9
2 2000 1 15 41 76 168 8 726
AR/ Oporating Temperaturo © 12 4-100 (-15C ~+90C)
MiftfLubrication 12 4-100 2ARMARE(Synthetic Grease)
PSR Protocion Class 12 4-100 1P65
A5 Mountng Positon 12 4-100 #8779 (Any Direction)
SARI(01=3000pm, FAMY NosoLovel  dB(A) 12 4100  <s6  <s8 <60 <63 <65 <67 <70

IR E S8 E/Moment of Inertia/
4 0.03 0.14 0.48 274 7.54 2367 54.37

1 5 003 013 047 271 7.42 23.29 5327

nnmR 7 003 013 045 262 7.14 2248 5097
Momentafineria 9™

10 003 013 044 257 7.03 2251 50.56

2 20-40 003 0.03 013 047 271 742 2329

50-100 003 003 013 044 257 7.08 2251

1AL b (i=Nin/Nout) 2.fk#itH 148 T28=60% of T2nOT
3.4 HIY100rpmB, EAFHLEMLR, “EALEH, &AW/ R15000hrs,

_3q{_

MODEL: PAD

BE 1-Stage
#ELk: 4, 5, 7, 10

SN R~F[E Dimensions:

il HINIE Input

o0
o0
opans.

ooons

H
Unit:mm
12 20 315 ) 50 80 100
28 40 63 80 100 160 180
a7 64 920 110 140 200 255
72 3 118 145 179 247
<=2 18- 14) 19(14-22)  24(22-26)  24(24-48)  35(35-48) a8(48 - 55)
30 30(30 ~ 50) 50(50 ~ 110) 110 110(110 ~ 114.3) 114.3(114.3 ~200)
20 315 50 63 80 125 140
67 79 109 135 168 233 280
23 O5xRES DExRET Q6XRET DBxRET D10XRE10 D12xRE10
4-M3 7-M5xRES 8-MEXIRBE12  11-MExIRBE12  11-MSxRM17 11-M10XRME20  12-M16xRME25
8-03.4 8-04.5 8-@5.5 8-05.5 12-06.6 12-09 16-013.5

46 45(45 ~ 70) 70(70 ~ 145) 145 145(145~200)  200(200 ~ 235) 235
e M- M5 M5~ M8 3 V8- Mi2 w2 w2

3 3 6 6 6 8 12

7 7 10 10 145 15 215

4 4 7 8 10 12 18
195 19.5 30 29 38 50 66

4 8 12 13 12 16 20
35 4-s 5-10 10 6-8 6-10 10
30 28(28 ~34) 32(32~59) 60 73(73 ~ 115) 88(88~117) 1195
70 80.5~87 97(97 ~ 120) 142 159(159~201)  196(196 ~ 229) 255

48 60(40 ~ 60) 90(60 ~ 130) 130 130(130~ 180)  180(180 ~ 220) 220

H1: () ERABTERERT, () FWIBRLRT,  Note 1: Inside of () is the optional range of sizes, outside of () is the standard sizes.
2 RS DM AE AR NIRE, Note 2: The reducer output shaft size and length can be customized for customers.
H3: WART i Note 3: Input be subject to changed according to the

or stepper motors sizes.

_30_



MODEL: PAD
B 3% R ~+ & Dimensions:

MODEL: PAD

& 2-Stage
&Lk 20, 25, 28, 35, 40, 50, 70, 100

5 Rt 8 Dimensions:

PADO047 PAD064 PAD090
IR OUTPUT iR/ OUTPUT #itkiR/ OUTPUT

; -
A o & g J'4 : = ol
§ 88388 ¢ L1448 &
Lol [ PAD110 PAD140 PAD200
- I

R OUTPUT s 1 OUTPUT iR 1 OUTPUT

8 sl 8

Unit:mm
6 | v | rineis | rwonis | rieis | vorinz | oz | vossi |
. - 2 a1 0 50 ) 100
2 o o ) 100 160 180
a7 ) %0 110 140 200 255
7 o 118 145 19 207 30
<11/<12 118~ 14) 19(14~22) 19(22 - 28) 19(19 ~ 38) 35(24 - 48) 38(38 - 55)
£ 30(30~50) 50(50~110)  70(70~110)  70(70~1143) 110(110~200) 114.3(114.3~200)
2 a1s s o w0 125 140
[ o 7 109 135 168 208 280
03 O5xRES DOxRAET DOxREET OBRAET OIOXRIETD  O12XREI0
4-M3 T-MSCRES  8-MOGGRAEI2  11-MEXRMET2  11-MExRET7 11-MIOXRE20 12-M16xRAE25
8-034 8-045 8-055 8-055 12-06.6 12-09 16-013.5
4 5-70 | 7070-145) | 90@0-145) | 0060-200) | 145(145-205)  200200~235)
wa Va -5 V5 -8 Vo -5 oMz MB-Mi2 iz
s s o o o s 12
7 7 10 10 145 15 2
4 4 7 o 10 12 18
195 195 % 2 s s o
4 s 12 1 2 I 2
as 45 5-10 6-10 6-5 6-10 6-10
£ 28(28-34) 34(34 ~59) 43(43-60) 65(65~ 85) 73(73-117) 73(73~117)
975 103(103~110)  123(123-139)  150(150~176)  195(195-211) 202(292-336)  306(306 - 322)
48 60(40~60) 90(60-130)  ©90(90~130)  90(90-180)  180(130~220)  180(180~220)
1 () ERABTRBGERY, () FWMBIER Y.  Note 1:Inside of ) is the optional range of sizes, outside of () s the standard sizes.
$E2: M MATLUBE PES AN, Note 2: The iput shaft customers.
3 BARHE Note 3 o changed according to the brand

or stepper motors sizes.

34—



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	37
	38
	39
	40
	41
	42
	43
	44
	45
	46

